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SUGGESTED ANSWERS TO QUESTIONS 

SECTION-A 

1. (a) 

(i) (B) 

(ii) (A) 

(iii) (D) 

(iv) (D) 

(v) (C) 

(vi) (C) 
 

1. (b) 

(i) True 

(ii) False 

(iii) False 

(iv) True 

 

1. (c) 

(i) Non-resident 

(ii) Rs.30,000 

(iii) 5 

(iv) Rs.50,000 

 

2. (a) 

Miss Dhwani is an Indian citizen living in Singapore since 2008 who never came to India for a single 

day since then, she would not be a resident in India for the previous year 2022-2023 on the basis of 

number of days of her stay in India as per section 6(1). 

However, since she is an Indian citizen 

(i) having total income, other than the income from foreign sources, of Rs. 19 lakh, which exceeds the 

threshold of Rs.15 lakh during the previous year; and 

(ii) not liable to tax in Singapore 

She would be deemed resident in India for the previous year 2022-2023 by virtue of section 6(1A). 

A deemed resident is always a resident but not ordinarily resident in India (RNOR). 

Total income = D 19,00000 

 

2. (b) 

Income from house property of Mr. Akhil for A.Y.2023-2024 = D 62,700 

3. (a) 

Income from salary of Ms Gita for the A.Y.2023-2024 = D 11,63,600 

3 (b) 

Eligibility for deductions under Chapter VI-A: 

(i) Payment of tuition fee for brother’s son is not eligible for deduction since brother’s son is not covered 

in section 80C(4). 

(ii) As per section 80DDB when medical expenditure is incurred for medical treatment of certain diseases 

and the patient is senior citizen the quantum of deduction is Rs.1,00,000 without considering the actual 

amount of expenditure. 

(iii) Interest on loan taken for pursuing education is deductible under section 80E. The amount thus eligible 

is Rs.12,000 and the principal is not eligible for deduction. 

(iv) Interest on moneys borrowed for the purchase of electric vehicle is deductible up to a maximum of 

Rs.1,50,000. The principal repayment is not eligible for deduction. 
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4. (a) 

(i) Income of Mr Mahesh for the A.Y.2023-2024: 

Business Income =   D 13,45,000 

Agriculture Income =   D 7,55,000 

 

(ii) The assessee has to file a return of loss under section 139(3) within the time allowed under section 

139(1) in order to carry forward and set off of following losses:- 

 Loss under the head Capital Gains, 

 Loss from activity of owning and maintaining race horses, 

 Business loss, 

 Speculation business loss and 

 Loss from specified business u/s 35D. 

 

4. (b) 

Deposit of TDS with in Time-Limit [Sec.200 read with Rule 30] 

Tax deducted by the deduct or shall be deposited electronically through internet banking facility to the credit of 

the Central Government within following time limit– 

TDS Time limit 

a) Tax is deducted on behalf of the Government 

 Where the tax is paid without production of an 

income-tax challan 

On the same day 

 Where the tax is paid with production of an 

income-tax challan 

On or before 7 days from the end of the month in 

which tax is deducted 

b) When the Assessing Officer (after obtaining prior approval from Joint Commissioner) permits quarterly                   

payment of tax: 

 Where deduction is made u/s192, 194A, 194D or 

194H 

Within July 7 (for Quarter ending on June 30), 

October7 (for Quarter ending on September 30),  

January 7 (for Quarter ending on December 31) 

& 

April 30 (for Quarter ending on March 31) 

c)   In any other case 

 For the month of March Within forthcoming 30
th

April 

 For the months other than month of March Within 7 days from the end of the month in 

which tax is deducted at source. 

Exception: Where tax is deducted u/s194-IAor194-IB,tax shall be paid to the credit of the Central 

Government within a period of 30 days from the end of the month in which the deduction is made and shall 

be accompanied by a challan-cum-statement in FormNo.26QB (for sec.194-IA)/ 26QC (for sec.194-IB) 

 

 

5. (a) 

Taxable income =  D 6,57,000 

Tax Payable =  D 45,660 (Rounded off) 

  

5. (b) 

Income from business = D 4,56,300 
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SECTION – B 

 

6. (a) 

(i) (A) 

(ii) (D) 

(iii) (A) 

(iv) (C) 

(v) (C) 

(vi) (B) 

  

6. (b) 

(i) True 

(ii) False 

(iii) False 

(iv) False 

 

6. (c) 

(i) 45 days 

(ii) 200 

(iii) 90 days 

(iv) motor vehicles 

 
 

7. (a) 

(i) In pre-GST regime, Indian indirect tax was highly fragmented. Centre and States were separately 

taxing Goods and services. There were many taxes like excise duty, service tax, VAT, CST, purchase 

tax, entertainment tax, octroi. 

(ii) In addition, there was multiplicity of rates. Law and procedures. This caused heavy compliance 

burden. 

(iii) Imposition of tax on tax was another serious problem. For example, VAT was levied on a value that 

included excise duty. 

(iv) Input tax credit chain broke as goods moved from on estate to another, resulting in hidden cost for the 

business. 

(v) Further, pre-GST, there were tax nakasat every inter-state border, creating bottlenecks in inter-state 

transport of goods. 

(vi) As a result, logistics sector remained inefficient and it adversely impacted the businesses. 

(vii) Every state was effectively a distinct market for the industry as well as consumer. 

(viii) Industry’s choice of locating factories or warehouses was heavily influenced by the prevailing tax 

regime rather than pure business consideration. 

(ix) This made our industry uncompetitive. 

 

7. (b) 

(i) The threshold limit of turnover to obtain registration in the State of Assam for the person engaged 

exclusively in supply of goods, is Rs.40 lakh.  

But in this case Simran Trader will not be eligible for enhanced threshold limit of Rs.40 lakh under 

Notification No. 03/2022-CT dated 31-03-2022, since it is engaged in supply of building bricks, the 

applicable threshold limit for registration will be Rs.20 lakh. 

the aggregate turnover of Simran Trader is Rs.35 lakh. 

Therefore, Simran Trader is liable to get registered under GST as its turnover is more than the 

threshold limit.        

(ii) The threshold limit of turnover to obtain registration in the State of Himachal Pradesh for the person 

engaged exclusively in supply of goods, is Rs.40 lakh. Further, if the supplier is engaged in supply of 

both taxable goods and services, the applicable threshold limit for registration will be Rs.20 lakh. 

Since Sayali Enterprises is engaged in supply of both taxable goods and services, the applicable 

threshold limit for registration in its case is Rs.20 lakh.  
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Thus, the aggregate turnover of Sayali Enterprises is Rs.38 lakh. 

Therefore, Sayali Enterprises is liable to get registered under GST as its turnover is more than the 

threshold limit. 

 

8. (a) 

(i) In case of services provided by Goods Transport Agency (GTA) in respect of transportation of goods by 

road to inter alia, any partnership firm whether registered or not under any law; GST is liable to be paid 

by such partnership firm.  

Therefore, in the given case Joint Enterprises is liable to pay GST under reverse charge. 

(ii) In case of services provided by any person by way of sponsorship to anybody corporate or partnership 

firm, GST is liable to be paid under reverse charge by such body corporate or partnership firm located in 

the taxable territory.  

Therefore, in the given case, Pooja Jewellers Ltd is liable to pay GST under reverse charge. 

 

8. (b) 

Total Input tax credit available = D 70,000 

 

9. (a) 

(i) Rate of GST in the case of composition dealers 

 Trading activity the rate of GST is 0.5% of CGST and 0.5% of SGST of the taxable supply of goods.  

 Manufacturer of machine  is liable for GST @ 0.5% of CGST and 0.5% of SGST of the turnover in the state. 
 

(ii) Minimum net GST payable in cash: 

CGST = D Nil 

SGST = D 8,000 

IGST = D Nil 
  

ITC to be carried forward next month: 

     CGST = D 2,000 
 

9. (b)  

Gross value of taxable supply on which GST is to be paid by Siddhi = D 10,000 

 

10. (a) 

 Assessable value of imported goods = D 91,10,000 

10. (b) 

(i) A debit note is required to be issued as the value of supply charged in the invoice no.1 is less than the 

actual taxable value. 

(ii) A credit note is required to be issued as the value of supply charged in the invoice no.2 is exceeds the 

actual taxable value. 

(iii) A credit note is required to be issued as the tax charged in the invoice no.6 is exceeds the actual tax 

payable. 

(iv) A debit note is required to be issued as the tax charged in the invoice no.10 is less than the actual tax 

payable. 

 

_______________________ 


